3aKOHbI anrebpel NOrMKU U CBOUCTBA NOrMYECKUX onepauum
NCMoNb3YyTCA ANA YNPOLEeHNA NMOTMYEeCKNX BblpaXKeHnn
(MUHUMU3aYUU JIo2UYecKUX hyHKYUU)

3aKOHbI MHBEpPCUK
(oe MopraHa):

[lepeMecTUTENbHBIN 3aKOH:

A3e B =By A
AnB=BnA

ANA=0|| AvA=1 dopMyIbl CKNENBAHUS:
AnA=4| | Avd=4 (AANB)V(ANB)=A4
= Avl=1 =

Anl=4 N (AvB)A(AvB)=A
An0=0 | | Av0=4

= 3aKoH ABOWUHOTIO

dopMyribl 0=1 OTpULjaHIS:

w (BT | 10| | 4-4
ANAvB)=4 (A—>B)=A&B

Av(ArB)=AvB
An(AvB)=AAB

A—> B=AvEB

A& (AvB)=A&B

A<>B=(A&B)V(A&B)
=(4vB)&(AvB)

CoyeTarenbHbi 3aKOH:

(AvB)yvC=Av(bv()
(AABIANC=AANDBAC)

AV(A&B)=AVB




